Find the solution of each of the following quadratic equation by completing the square


$$
\begin{aligned}
& \left.\left(x+\frac{b}{2 a}\right)^{2}\right)^{\frac{b^{2}}{2}}-\frac{c}{a} \\
& a y^{2}+b y=-c
\end{aligned}
$$

$$
y^{2}+2 y=4
$$

$$
a=1 \quad x=\frac{-6 \pm\left[6^{2}-4(1)(-7)\right]^{\frac{1}{2}}}{2(1)}
$$

$$
b=6 \quad x=\frac{-6 \pm[36+28]^{\frac{1}{2}}}{2}
$$

$$
c=-7 \quad x=\frac{-6 \pm[64]^{\frac{1}{2}}}{2}
$$

$$
\text { Which reduces to } x=\frac{-6 \pm 8}{2}
$$

And yields

$$
x=-7,1
$$



